17.  For all real numbers x where x >1, let f (X) = \/; —1.

What is the value of f(100)?

o -

7 = 3

18.  According to the table above, for what value of x does f(x) = x + 2?
A.0 B.1 C.2 E. 4
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19. 1 f(x)=~x+1 forallvaluesof x>0 ,and f(x)=x2+2
for all values of x <0, what is the@of (-3) and £(8)?

F(-3)= a0
Fle)=le~m = 3

'Y




20.  Let the function g be defined by g(x) = 5x + 2.

a

If 2 , what is the value of a?

5 (%)= 36

&
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Let fla, b) = a® - b2. If f(5, d) =9, what is the positive value of
5 -4*:9 d°- 16
=, =
2A6-d = :\'_ o Y

20.  Iff(4) =8 and f{5) = 17, then which of the following could be f{x)?
Ax+4 f2x Wax-3 W2 -4

21 Of f(=6,f(x):§+2, andg(x):‘x2_10‘ |

which of the following is a poss

A. \/E B. \/§ C.2 D.6 E.I8

qu—lol T = 6

2 2 .3

/x*10f |
2. = = H-=

/x‘-\o)-%
X¥*-lo=% ©R rE-lo=-%

=0 _+ 10 + 10 tlo

x* - % x*=02
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22.  Iff2) =10 and f{4) = 44, which of the following could be f{x)?
A2x+6  RE2CHI2 2 +2 B2 —4x

3. Forallx,let ix) = (10 —x)* Ifp @ hich of the following is equal to 4p?
A. f(24) B. A(18) C. D. £(8) E. f(4)

(0-6) = 16
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17.  For all real numbers x where x >1, let f(x) =y \/; -1.

What is the value of f(100)?

{(or -
\[']o-l
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18.  According to the table above, for what value of x.dees f(x) = x + 2?
A0 B. 1 C.2 @ E.%
£ &)

X
X
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190 1 f(x)=+x4+1 forallvaluesof x>0,and f(x)= x> +2
for all values of x <0, what is the @f f(-3) and £(8)?

F(-‘s)-_(‘s\ +2 = |l
FOE)~ g+ 3
| 4




20.  Let the function g be defined by g(x) = 5x + 2.

If 2 , what is the value of a?

- 2 -2
%{‘i)fﬁ
T a | 34 =z
< 5 7T
_ 6%
A< g

Let fla, b)=d® - b*. L@= 9, what is th&posttive value of
2
5%-d"=9 a%lb

2_ -
357t pdnd
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20 iff4)=8 andXS) =17, then Which of the follafving could be Wx)?
\ert & Werk C4x-3 D.x-2 E.x*-4

o f(g(a)gf(x);:@| ,

which of the following is a poss

A 2 B 3 C.2 D.6 E.I8
*-jo
_ZX / -+ a =
2

-

~ 42

3. /x*=10]

[x*-10)= B

-2 2

X =lo=- ¥ oR x _!g-f_lu
410 +\e —_—

Iy (x*=12
x=\7% x=\z



22.  IfA2) =10 and f(4) = 44, which of the following could be f{(x)?
A2x+6  B.2x+12 C.2x°+2  D.2x° —dx .
V4
£(w)=3 -4 -uy=%

3. Forallx, let {x) = (10 —x)*. If p f(6) which of the following is equal to 4p?
A. f(24) B. f(18) D. £(8) E. f(4)

f10-Go-6) < 16 =p

AN F(24)= (lo-24y*= |ab
BN £18) Clo-1g\*~ &Y
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